U300 L=56.4m i=0. 35%

Z1) 7 4 Z250%250

BQQ 55 K #t
ZE s \\ @B15)

5RZ A=295.3m

UZFi#&300 L=12.7m
i=0.21%

%l¢ 0
7 00€#EN

we ‘gl

IS8k (R5HTSL)
(500%500%450)

1 UZi#300 L=15. 4m

95 EKkM (RIFITH)
(600%600+550)

w4l e TIEEAH (BB
&iZ A=69.0m o0 00+550)

L i=0.21% /
I I I T I I I T F—
85 ki (GRIBIT5) — &3
(500%500%450) no B
= g
o
|k
&
23400 L=24. T
N
105 &Kk# RIFHTH)
(600%600%550)

1255 Kk# (RFHTH)
(600%600%550)

k2 A=104.3m

T/007% &N

UFi&400 L=24.4m i=0.28%

1S &EK# (BRBITH)
(600+600%550)

255K (RI5HTH)

(600%600%550)

0.38%

=76. Om

{8;&300%300 L

o
EBE

7

145 &K #4 (500%500%800)

4"7

§
o
T
S
=
S
L
o
o
%
o
2
e
e
we | BEAE
155 & K# (BRIFHTH) {8l 7%&
(900%900+1000) 700+700 |
L=4. 8m
i=1. 04%

U=Fi#600 L=24.8m i=0.28Y%
_ SN A

164 82K f

135 K #t
(RIHITH)
(800%800%750)

(8Q0*8000>1000)

14. 0m
0.36%

L=

700%700

4. 1m

»//\Q'fs@\“ 9 }(700%700%675) -
UF5%400 1=49. 2m i=0. 35 & \ :
[\ 4z skm @sis)

I} «%\600*600*670)

%
35 E KM (RBITH)

_ (500%500%560))

1.47%
—

BHARAE ShaRAE
'7

800%800

L
\s
= %4

115 &KH
(800%800%1100)

185 &K #t —
(800%800%1200) B H A &Rl
(117 )
800%900
L=5. 4m

i=0. 94%

Z1) 7 4 Z500%500

A

tTEFER -

S=1/500 (A1)

= i % i M

WEEEREMLIMBEARELA

T%2 Eiﬁiﬁamﬂﬁl$ (2TRK)

%%%

IFEH | arw jiik i £ e
M & i i HAHEFER

f8 R $=1:500

HEES | £ 13 T & 1 =




RUIFLUE G300  s=1:20
1980
e % R (1)
HEK T ER FiEE X
KB 13.55
1300 R  10.07
USEE240  s=1:20 USE#300  s=1:20 USEE400  $=1:20 USEE600  S=1:20 " ol BT 236
&) )
770 _ i
o
600 S
540 |
420
350 400 )
E
249 = | 1100 | RCAOMMLLTF
o 2R 2.4 | m3/10m
3
o 8| o 3
g g 3 8 N
D
| 5 ® - - RUIFLUE D400  s=1:20
=4 o ‘gg o D~ o — / [o0] o
0/AIN000, S - - 009 000, :
S S S S 2180
BELZIL BELZIL BEILZIL BELAIL
1:3 1:3 1:3 1:3
£ 240 HHEH 300 HHEH 400 HHEH 600
440 500 600 800 1400 RH - 16.56
A - wer s e j BE  12.20
e 10ms b HER 10m24 Y HER 10m4 1) HMESR 10m4 4 Bt 3.00
£ FR B g 8 A B | &% = % FR RO # 8 A Bz | &% E % FR RO # 8 A B | &% E % FR RO # 8 A B | & 2 © o
o> >
£ OB H t=100mm | 0.44%10. 00 m2 4. 40 £ B OH t=100mm | 0.50%10. 00 m2 5. 00 £ OB O# t=100mm | 0.60%10.00 m2 6. 00 £ OB OH t=100mm | 0.80%10. 00 m2 8. 00
BELIL 103 | 0.24%0.03%10. 00 m3 0.07 BELZIL 103 | 0.30%0.03%10.00 m3 0. 09 BELSZIL 153 | 0.40%0.03%10. 00 m3 0.12 BELSZIL 103 | 0.60%0.03%10.00 m3 0.18
KD 240x240 | 10.0/2.0 & 5. 00 KD 300300 | 10.0/2.0 & 5. 00 KD 400x400 | 10.0/2.0 & 5. 00 KD 600x 600 | 10.0/2.0 & 5. 00 S
HEEE 0. 44%10. 00 m2 4. 40 HEEE 0.50%10. 00 m2 5. 00 HEEE 0. 60%10. 00 m2 6. 00 HEEE 0.80%10. 00 m2 8. 00
F3 m3 4.00 F3 m3 5. 00 F3 m3 6. 84 F3 T m3 11.10
18R m3 2.53 18R m3 2.98 18R m3 3.73 18R m3 5.11 1200 %40 jp,u:
Bt m3 1.18 Bt m3 1.69 Bt m3 2.70 Bt m3 5. 42
»a 2.6 | m3/10m
EREME (HEETA)  s-1:20 EERE (HEETA)  s=1:20 EREAE (EETA)  s-1:20
300%300 500%500 400%400
ZER =10
720
500 500 660
300 490 SEEERIOv Y B)@@ER  s=1:2 SEEER IOy B)@@ER  s=1:2 SEHEEHRIOvY B)@EER  s1:20
HL—F 24 (1-25) DAL Bl 5 ABD R{TED
150, 230 500 230
: 25 180 [25 50 230 5180 25
o r — ” SEEHERAO Y i1, 1627 SEEHERTO Y
> o arv 97y - SEEERIO VY ‘ arv 9 ) —+ _ o a v 49y =+
] [ 2| @ - “ 2 o \ ol o (MER: &2 §§ (ock=18N/mm’) ([-ﬂ@LR#Em%{gB) 57 (ock=18N/mm) (AER &) §§ (ock=18N/mm’)
o = w| T QS o b 6.00% ’ 1 o 6. 00% o b 6.00%
\ J S Y v 2 S L 27— 2 S Y v 2
- \ ) N S b= g ST g = g
77—l = S —t—— S G 00) & = 00N g 000 s
= o 000, S ) (0 o g » o# g » o# g » o#
BEILZ I - — b 880 0 (Z4m7E) > 780 0 (E4®7A) > 880 \ (54pA)
1:3 BWELSIL WELSIL | 980 | | 7§80 | 980 |
M 300 1:3 1:3
— 500 E A 500 H At 4 2 * 10.0mz5 Y # = = 10.0ms5 Y 3 = = 10.0m& Y
00 40 T o@m | ® oA | % | am T @M | B % \ M B | a2 T o@m | ® % |k B | 2
600 HitH i 9.80 | m2 HiH i 8.80 | m2 HitH T \({.80 m2
MER omxy W= 10m 1 MER 10m U av9)— k| ock=18N/mm2 1.00 m3 av91)— b | ock=18N/mm2 0.84 m3 av91)— k| ock=18N/mm2 1.00 m3
% FR s g g A B &% = % FR g3 % # 8 H B (&% = % FR g3 % g g A B | & 2 By INEUREE Y 2.70 m2 By INEUAEEY) Z\LO m2 By INERUREEY) 2.70 m2
£ B M | t=100mm | 0.50%10.00 m2 5. 00 £ B # | t=100mm | 0.70%10.00 m2 7.00 £ B H t=150mm 0. 60%10. 00 m2 6. 00 WELIL 1:3 0&2 m3 WELZIL 1:3 0.02\| m3 WELZIL 1:3 0.02 | \m3
BELZL 1:3 0. 30%0. 03%10. 00 m3 0. 09 BELZIL 1:3 0. 50%0. 03%10. 00 m3 0.15 BELZL 1:3 0. 40%0. 03%10. 00 m3 0.12 B#ELZIL 1:2 0.008\| m3 Bi#ELZIL 1:2 0.003 |\ m3 B#ELZIL 1:2 0.003 mﬁ\
Y AR—EE | 300x300 | 10.0/2.0 X 5.00 yAR—2B% | 500x500 | 10.0/2.0 & 5.00 ) R— L BE 400 x 400 10.0/2.0 X 5. 00 SEEERT Oy Y i 10.00 [\ m SEEERIOYY | gl 10. 00 }.\ SEEERT Oy Y e 10.00 | m
= 300/ 10.0/2%2 # | 10.00 S 500/ 10. 0/2%2 # | 10.00 GL—Fvy 400/ (L=1000) | 10.00/2.00 " 5.00 BRiE 3.70 %3\ PR1E 3.45 | m3 PR1E 3.70 | m3
HEEE 0. 50%10. 00 m2 5.00 HEEET 0. 70%10. 00 m2 7.00 HEEEE 0. 60%10. 00 m2 6. 00 1R 1.45 | m3 1R 1.45 | m3 1R 1.45 | m3
PRAR 6. 55 R 11.02 AR 9. 44 Bt 209 | m Bt 1.84 | m Bt 209 | m
18R 3.83 18R 5. 44 18R 4.94
Bt 2.29 Bt 4.98 Bt 3. 95 -
= /_ =n.- = kY
= it &% &t
& ~ S ?
SEREEI00 51120 MR IOy ABER WHLETEAHFMLIHEARE L
EELHESS
125, TE2 | errsmeskBIs QIR)
A JII%
§§ 10m L) = 10m5 U B
— e | o = - e | o = ~ R
1 F I ¥ & 2 R, . & —H | /R ¥ ® = B | % 8 THmm | L2F s I E .
Q £ B O# t=100mm 0. 44%10. 00 m2 4. 40 - £ B O#H Omm | 0.22%10.00 m2 2.20
o
® > : % HEHEX
: = BWELZIL \1\3\ 0. 24%0. 03%10. 00 m3 0.07 S BELZIL 1:3 Ws*m_oo m3 0.04 X & & 58 KR ERER (1)
L/ | S BIEH L S— b 300 | 10-0/2.0 & 5.00 - L5 L HWEHR IO VY A 10.0/0. 60 & | 16.67 - —
B4R m3 5.57 1)_ 3 ? EEEE 0. 22+10. 00 Tl 2.20 e R B 7
= A
R —n3 3.48 EEEH R AR m3 4.20 AEES | 2 0 T ) =
Bt m3 N 50| 120 |50 1B m3 2.48
220 Bt m3 1.44




BEKiEs FEaR (2)

BHAERERTER s=1:20 BHAEAERTER s=1:20 BHAEAEETER s=1:20 BHAEREETER s=1:20

(500 x 500) (500 x 600) (500 x 700) (500 x 800)
7120
& e 4 B i (RSB FR) 300%300  §=1:20 B B 4 B i (A FR) 300%400  s=1:20 190 2 200
7120 500
500 k J o
500 500 . L ) ~
300 300 N '
5 L—F 24 (T-25) 5L—F 245 (1-25) k ) ~ k J —
— | Lo SIS
g Lo g S g EE g =7
L EPFDRE ¢ T . 3 = S5 = 3™ = =
o ck=18N/mm2 -7 = § BRIy Y-tk -7 = § S Lo S S S
" - 2|3 o ck=18N/mn2 Ll 1 1 1 2
< m < |
= L] o - N N N N
S i s | e S i S i = | N S i
sl oA S e N~ S L) N 3 S L) N > S L) N 3 S L) N >
8 o / / . '\ t'c:
% %* = e A ﬁg 3 E@avoy—+ BRI Y—b a2 ) —F ERS >V U—F HEBavs)—F BRI )—F HE@avs—F ERI 21—+
B H#D13 B H U b " = M 740 g 740 g 740 M 740
FFED13%4AK/m o ck=24N/mm B A AD13 HEEEar o )—+Fk
600 A FHED13%44/m o ck=24N/mm2
600 E A Ri#E 11.42 RiE 12.74 R#E 14.06 R#E 15.38
KiE 7.54 RiE 8.64 R 5.52 R 6.20 R 6.88 R 7.56
/R 3.87 BR 4.47 Bt 529 1t 5.85 Lt 6.42 Bt 6.98
Bt 3.24 B1t 3.67 .
#E23R (H-500~800) 10m4 Y
e % 10m U A g M E g & R Bif =
p g 18 % g F B Yy = X B M t=100mm 0. 74%10. 00 m2 71.40
x OB M £=100mm 0. 60%10. 00 m2 6. 00 HEHa2 ) — k| ock=18N/mm2 | 0. 74*0. 09%10. 00 m3 0. 666
e o ck=24N/mm2 | 0.60%0.09%10.00 m3 0.54 GES 0.09%10. 0%2 m2 1.80
Y 0. 09%10. 0%2 3 | 80 B3> ')— k| ock=18N/mm2 | 0. 50%0. 05%10 m3 | 0.250
#% D13 (0. 50%4+3. 00) *10. 00%0. 995 n3 49.75 ) R—AE 500x 00 | 10.00/2.00 x 5.00
ElaLY ) — Kk ock=18N/mm2 | 0.30%0. 05%10 m3 0. 150 = 500/ 10.00/2. 00%2 54 10. 00
) R—faE 300 x 00 10.00/2. 00 p:N 5 00 EEEIE 0.74%10. 00 m2 71.40
SL—FL 4 300/ (L=1000) | 10.00/2.00 W 5 00 X ERIADY)—FEIEASOIMDBETHY . BASREFMET L&,
EEBIE 0. 60%10. 00 m2 6. 00
X EMRaVY)—FIEASMOHBETHY ., BZLI3DIEMET S &,
B B4 & EE $=1:20 aVvyl)—rE k=
(700 x 700)
H R4 Ec{EliFE S=1:20 o
(600 x 600)
700 826 822
830
600
L/\" = XX X X XX XXX X :
X X X XX X X X X X C
= 4 1 [ XX X XXX XXX X = p =
L J < = o XX X XXX XXX X = c e
el | E 8 g X X X X XX XXX X E
4 o ‘ ‘
4 8=
: ° | |
S g p ,
o f o
- ) & HBaLsy—k LU EEA
HEEaL sy —k B2 29 Y=k = — _ , —
gck:I 8N /mm2 850 o ck=18N/mm2 o ck=18N/mm2 0 ck=T8N/mn2 LJ U_I § L, L1 l\=' g
1070
" HiEH
EREH 812 812 ——
w w = i & it X
aﬂ%i (H_GOONQOO) 10m¥3 L) aﬂ%i 10ms U
2 F : jﬁtﬁmojfg 0.85 10%:00E - ilﬁ ﬁsi & i = e A el N WESRABWIMAELH
Ak = . * . .
e — " " £ B M t=150mm 1.07+10. 00 n2 10.70 T og o | AEOLESS
WMarso)—+k o ck=18N/mm2 0. 85%0. 12%10. 00 m3 1.020 TR o ok=18N/mm2 1 07%0. 13%10. 00 3 | 39 ERITEMAMBEAKERIE 2IK)
il 0.12¢10. 0x2 "3 240 FEIEA 0. 13%10. 0%2 m3 2. 60 | JII%
vHy—k k=18N/mm2 3
EirRa>o Y oc /mm 0. 60*0. 05%10 m 0.300 EERaIVS Y — o ck=18N/mm2 0. 70X*10. 00 m3 7.00X R
1) R — Al 600x 00 10. 00/2. 00 5.00 _ =3
IR x / A B ph &) 700x 00 10.00/2. 00 & 5.00 TE&EM ;i? Ik gle
= 600 10. 00/2. 00%2 1 10. 00 oM
aVHy—RE 7008 1 8.00
SEEE 0. 85+10.00 2 | a0 P 1007 " 2 00 18 5 HEK 6 52 % 4 i (2)
3 14. 4 :
i " HEEBE 1.07%10. 00 m2 10. 70 N _
1BR m3 6. 46 fa R T~
rage m3 18. 53
AL " .26 1BR m3 6. 80 &% % 13 T 3
. 5\‘ = Padasd =
X EMROLYU— FEEHOMOMBETHY . MR HAEMET B L, - . e ” w® ® ”

X EMaVV)—FIEASMMOBETHY . BAIDIEIMET S &,



BEKiEsx FEa R (3)

B B4 EEE $=1:20 aVvy ) —+rE g£KkE
(800 x 800)
1080
926 922
800
(¢ 600) s=1:20 HERE~TEE
X X X X X X X X X X X E :: : Z :: :
L J S XX X X X X X X X XX - ) . - | . - 6 =180°
— X X XXX XXX XXX C 1 [ ) C 1 [ > . Xy Jax
/\ X X X X XX XXX XX 3 C 11 > ¢ 10 > 3 tl_A%(Bﬂg%‘:)*ﬁL% %1$E
1 ( X X X X X X X X X XX i :: : E :: :
3 o —
§ ‘ ‘ S| = 1315 600 600
Lo
‘ ‘ — ISOWO”
926 922 =
o | | N | | | | 1 © avsy—t
o / — o ck=18N/mm’
o o 2| 5| = — — — — = — 2 -
000 158 I ] - 3 000, T
1 1 | ©
EWRa>H)—k EEEH 104 900 100
k=18N/mm2
o ck=18N/mm2 e /mm 912 912 12 L "
ERE 1180 (B4 {s7mm)
SHiE® EOE
MEIXR 10m4 Y FEUE
£ g7 18 ® g F # By H =2 D D1 D2 D3 D4 T [ [2 [3 [4 ) L
E OB O# t=150mm 1.18%10. 00 m2 11.80
600 600 708 704 690 804 50 75 100 36 135 100 2430
HEfEass)—k ock=18N/mm2 | 1.18%0.15%10. 00 m3 1.77
EEES 0. 15%10. 0%2 m3 3.00 |RPS+ T2 — 5 \ER Le5. 2m
ERRa VY ) — b ock=18N/mm2 | 0.80X*10.00 m3 8. 00X 2 5 B® g7 o ® B | % 8
7\ T YR =
ARnEAR 800 90 10. 0072. 00 * >-00 HMER 10m24 Y 3 (400+2. 10) ¥1/2+1. 91+5. 2=30. 34 m3 30. 34
Av7U— bR 800m ® 8.00 % #h B 7 & X B | # 2 185 5. 03%5. 2=26. 16 m3 26. 16
E@EE 1.18%10. 00 m2 11.80 BHEEaLH)—k ock=18N/mm2 | 0.26%10.00 m3 2. 60
PRYE m3 37.14 HE®EE 1.10%10. 00 m2 11.00 X ET#HME—F 2XFfE L=33. 8m
BER m3 22.69 % #R RO® g ® K B | # =
7+ m3 11,93 FRAE (5. 08+2. 10) *1/2%2. 98%33. szseﬁe\g m3 361. 60
X EHROVYU—MEEASOMOKETHY ., B IHEMEST B L, 2R 9.89%33. 8=334. 28 m3 334.28
R+ 361. 60-334. 28,/0. 9=-9. 82 m3 9.82
BEAER/E BEER)  s-1:20 JgL—F9 SXBEIH=E—5 3R L=44. 4m
(800 x 900) T-25 2 3 % g % = B | % 2
1080 FRAE (4. 64+2.10) x1/2%2. 54%44. 4=380. 06 m3 380. 06
18R 7. 75%44. 4=344.10 m3 334.10
900
800 Bt 380. 06-334. 10/0. 9=8. 84 m3 8. 84
0 0 N = —
AXB T ITH=E—5EE AR L=60.5m
L J S i £ b b3} % g & R \%ﬁ % =
/\ — = 3 (3. 79+2. 10) *1/2%1. 69%60. 5=301. 11 m3 301. 11
I 18R 4.17%60. 5=252. 29 m3 Mzg
o o Et 301. 11-252. 29/0. 9=20. 79 m3 20. 70
ERaVHU— b =
= 8 ‘: & =1:
o ck=18N/mm? S ERBBER  s=1:20 FiE% (T-25) B OIE15embl ERRT B
SIREKH 142,168, 178,188 - —— . —
- 192 242 258 3282 ME U % A B H hi t Af HEEE | ERIY | KiE BR b
4 ¥ 900 182 EAMITIEA Y T4 RERTFB L, axbxh (ke) | KB mI | () (?) (?)
= ot [ 182 & 7k#t - 4 1) 7 1 R500%500 500 x 500 x 600 750 | 535 702 1.76 | 1.16 | 0.47
S S - i N - 500 x 500x 700 850 | 635 796 1.96 | 1.29 | 0.53
m m 2 500x 500x 800 | 800 | 800 | 950 | 735 | 65| 900 889 0.038 | 6.41 | 568 |0.10
— ]
< 500 x 500 x 900 1050 | 835 083 7.34 | 6.10 |0 06
D13 x 5K . T Om B 500 x 500 x 1000 1150 | 935 1076 8.35 | 7.49 |0 03
D13 x 4%/ BRI V-t - R ) 800 x 800 x 1000 1150 | 910 1573 10.38 | 8.77 | 0.64
0 ck=24N/mm2 800 x 800 x 1100 1250 | 1010 1710 11.66 | 9.93 | 0.63
150 a 150 150 a 150 1100 | 1100 90 | 1200 0. 096 = fj/_ =n §_|_
1180 54 800 x 800 x 1200 1350 | 1110 1847 13.03 |11.18 | 0.61 £ Jh 3% &
. FL—Foy 1-25 (EBEEAT) Fok#EE R (500%500) B
==) 10m¥y v * 2 YT = 2z
= — —— T2 - , ' % %fr\ R g = = B &% B IVE = B RKE T T ih BE &4t
- FLErR At 500%500% h B 1.00 ————
OB # t=150mm 1.18%10. 00 m2 11. 80 EEAHESES
- — TJL—FUI%& T-25 &£&8 8 1.00 T4 RETEMMBAKEIS QTK)
@ )—k ock=18N/mm2 | 1.18%0.12%10. 00 m3 1.42 B ’
m| o = avs)—Fk 18N/mm2 0. 50%0. 50%0. 15 m3 0.04 o
% W D13 (1.08x40+10.00%5) x0. 995 m3 92.73 b = % B H isom 0 907090 > o ﬁ:ﬁ%
IXE = . . m .
= B 0. 12%10. 0%2 3 2.40 ]
RER ilaahal " o i £ @ EE 0. 90%0. 90 m2 0. 81 TEER | LBE I E .
EWRa>S)—k ock=18N/mm2 | 0.80X*10. 00 m3 8. 00X =2 o KR Er—— — =AH
: HL—F U4 1-25 (BBESEA D) = A Skt =3k (800%800) EE)
B i ) B B % 800 x 00 10. 00/2. 00 EX 5.00 m 2 5 HKEEFRER (3)
: N 2 ¥ Bo® g = B | % B % BX 7 R e
BL—F24 8003 ® 5.00 2
BIBTav P U—F (ock=18 N mn) PAVE X S 800%800% h 1.00
EEEE 1.18%10. 00 m2 11.80 X B YA RH = w R =
o - 29 61 y = TL—FUisE T-25 E&EE # 1.00
- - 24 43 avyy—+k 18N/mm2 0. 80%0. 80%0. 15 m3 0.10 HEE2 | 2 13 = % 4 2
i t=150 1.20%1. 20 2 1. 44
VZ m3 12. 47 x= B O# mm * m
® 1. 20%1. 20 2 1.44
X ERaVYV)—FIEASMMOB=THY ., BZEDIEIMETH &, £ ® * "




& Kk #t (500%500%450) 4 1E X $=1:20
SREKY 15
TEE
50 800 50
150 500 150
65 65
3] X0 000¢
o
= E : 5
/
o o o AN U$’§300 o |©
o o o - w o
ol B & \ o &
T~
i : S
g X0 OO
c
i
itk
1 W
\/ = E@s
X o o
:E;;M (RC—40)
| 630 |
900
{AImE X
FU-Fu4 800
T-25 150 500 150
T+25
S INERRNRRNRERINEN
2 . UFiE300 $5§30/) -
s Y 5 — . avyy—+§
© g ock=18N/mm’
o
Lo
3 0
o
H Th
1 800 B -ERRE
900
T T Xs=1:20
o
=
1900

HE K bt

R FEIE

y

(4)

& Kk #t (500%500%450) 4 1E X $=1:20
T REKY : 85
FER
50 800 50
150 500 150
65 65
i B
P
c
(s
itk
w
o
o
S 900 0009
o
S : ]
| /
o o o UFiE300 o lo
o o o - w o
(o] Lo [ap] o o
T~
28 F : —
S XX 00
630
900
FL-FvY
T-25 (RC-40)
Alm X
SU-Fv4 800
T-25 150 500 150
T+25
~_ NIII\lIIIIIII,IIIII
of 2 R —_—
o [s2] —_
© o
=i
o ~
2 avyy—+
2 OO ock=18N/nn’
5 800 B sERE
900
T T Xs=1:20
o
=
1900

%£k#4(500*500*450) K ExK (75 - 85 - 225)
T R FEC =R iva HE
PRI 1.90%1.90*0.75 =2.71 2.7 m3
R L 2.71-(0.90*0.90*0.15+0.80*0.08*0.60) =2.20 2.2 m3
2 2.71-2.20/0.90 =0.27 0.3 m3
EmEEIE 0.90*0.90 =0.81 0.8 m2
EREAS o 0.90*0.90 =0.81 0.8 m2
0.80*0.80*0.60-((0.63*0.63*0.071)+(0.50*0.50*0.379)
a2 YU—+ ack=18N/mm?2 0.2 m3
+(0.30*0.30*0.15)+(0.30*0.3*0.15)) =0.23
Bl e NEIRE IS ) (0.80+0.50)*0.60*4-0.30*0.30*2*2 =2.76 2.8 m2
SL—F T-25 AHE607*607*65 H630%630*71 HREE47.6kg/set 1.0 %

£ sk ¥t (500%500%450) #&& X $=1:20
SREKY : 225
FER
50 800 50
150 500 150
65 65
g B
c
P' 1
Jnf
w
o
o
3 0000 0000
S - -
- = ®
| /
[e) [e) o (o)) ©
o o o w o
(o] Lo (ap] o o
o o) ) . N
5 < e e
2 0000) 0000
c
P i
otk
w
1O
© £ H
JgL-3vy "
ot 9 (RC-40)
630
900
U
Ju-%vY 800
T-25 150 500 150
T425
~ INEERRERRERNINEN
o FiE30
o 2 R J
[e) [ap] >
© o
o
o ~
il avyy—4
2 OO gck=18N/mm’
G 800 b S zmBE
‘ ‘ RC-40
900
T T [Xs=1: 20
o
=
1900

£

& &

WHEZEBERHFmIERLH
TEA Ei?iﬁty&ﬂ%r% (2IR)
o ®
IEEF | poe :f: il P4
X m & 8 BEKESRFEER (4)
f8 R EIS
REES | 2 13 % % 2




£ 7k #t (500%500%560) ¥ & X $=1:20
S REKY : 35
FmE
50 800 50
150 500 150
65 65
3 X0 000
o
- : ‘an
/
BHAERAE
25 3 T Z 3
300%400
g — : S
et XX 000
35
o
e
P‘ = AR H
:l:;;*n (RC-40)
| 630
900
{8 m =
JU-Fvy 800
T-25 150 500 150
T+25
~— |NEERRERNRRRENEN]
%Egﬁﬂ%ﬂﬂ% ~
8 =) 'FH :|>7I)_|~
= | || _-300x400 . o ok=18N/mn’
P
o ARRE
3 RC-40
3 00
54 800 #c
900

T T X s=1: 20

860

1900

BEKiEs FEaR (9)

£k #t (500%*500%560) #iExX (32)

£ 7k #t (600%600%550) ¥ & X $=1:20 £ 7k #t (600%600%550) #& & X $=1:20
SREKH 15 FHREKH : 25
TEH TEH
50 900 50 50 900 50
150 600 150 150 600 150
68 68 68 68
S 0000 (0000 S QXX) (0000
g — ® ® — E sl ® o —
ol s <_U¥#300 U¥#400 = s s S _UF#400] _| UFi8400 313
> o \ a8 > o \ _~ o |8
S~ o~ ~1
g L § V1 § 1 E $7ﬁ :<< // Q —
S XXX (0000 S i XXO OO
JgL-FvYy AEBEM JU-FvYy ABEMH
T-25 (RGC-40) T-25 (RGC-40)
7135 — 735 R
1000 1000
{8 mm = U
50 900 50 50 900 50
FL-Fv4 FL-Fv4
T-25 150 600 150 T-25 150 600 150
+25 +25
by IR IENRRRERRRNAERIN b=y LTI TqT
UFiE300 UFiE400 UFiE400 UFiE400
3 — = 3
o2 2 S - =~
= = —— = =
OT OT
Lo Lo
8 ~ 8 ~
2 avy Y-k 2 avy Y-k
S OO gck=18N/mm’ S OO ogck=18N/mm’
AERA EBRA
| | RC-40 | | RC-40
h( 900 h( o( 900 5 (
1000 1000
I T [Xs=1:20 T T s=1:20
o o
Lo Lo
(o] (o]

2000

2000

THE A e L tivi e
PRYE 1.90%1.90*0.86 =3.10 3.1 m3
R L 3.10-(0.90%0.90*0.15+0.80*0.80*0.71) =2.52 2.5 m3
%+ 3.10-2.52/0.90 =0.3 0.3 m3
EEEEIE 0.90*0.90 =0.81 0.8 m2
BB e 0.90*0.90 =0.81 0.8 m2
0.80%0.80*0.71-((0.63*0.63*0.071)+(05.0*0.50%0.489)
a2 U—+F ack=18N/mm?2 0.3 m3
+(0.30%0.30%0.15) +(0.30*0.40*0.15)) =0.27
B INBU RS WY (0.80+0.50)*0.71*4-(0.30%0.30%2+0.30%0.40%2) =3.27 3.3 m2
TL—F U T-25 AA607*607%65 ZH630%630*71 HAEEAT7.6kg/set 1.0 %
& /k#$(600*600%550) #HEFR (1S - 25)
THE AR AtE= B HE
PRI 2.00%2.00*0.85 =3.40 3.4 m3
BE L 3.40-(1.00*1.00*0.15+0.90*0.90*0.70) =2.68 2.7 m3
%+ 3.40-2.68/0.90 =0.42 0.4 m3
EHEEIE 1.00*1.00 =1.00 1.0 m2
BB o 1.00*1.00 =1.00 1.0 m2
0.90*0.90*0.70-((0.735*0.735*0.081)+(0.60*0.60*0.469)
a2 U—F |ack=18N/mm2 0.3 m3
+(0.30*0.30*0.15)+(0.40*0.40*0.15)) =0.32
Bl 2 NEIREES ) [(0.90+0.60)*0.7*4-(0.30%0.30*2+0.40*0.40*2) =3.7 3.7 m2
SL—F> o o AHET134713%75 ZH735%735%81 FATEM69.2kg/set 1.0 1%
ALk ERE
== e S = v
£ jE %
<2
WS S &EAREH TG QH
WEEE/NMEHE
T =4 ]Ef/_\*i% =
REIEAMPKBRIE QIRX)
] JII%
i
s WeE F-
T : t
FEM | axm - il £ th 4
X m #E % ks FHER (5)
e R =
HES | £ 13 - =




7k #t (600%x600%550) & 1E X

S=1:20

SHREKN : 95

GeL
0001
GeL

0001

HEEH

(RC-40)

av9 )=+

FEEH
50 900 50
150 600 150
68 68
3 X0 0009
o
2 el : - s
sl 8 S UFiE300
> o \
I
0 a 1 Y
g B Lz :
3 X0 . )
c
u
b
o
JL-Fv4 ©
T-25
135
1000
ElEd
50 900 50
GL-FvY
T-25 150 600 150
125
= [NiNTRRNNNNRRET NN
U%ig300
o ©
o <
~
o
Lo
o ~
2
2 00
Lo
o 900 o(
1000

T T X s=1:20

ogck=18N/mm’

ERERA

RC-40

850

2000

HE K bt

R FEIE

%] (6)

£ 7k #t (600%600%550) ¥ & X $=1:20
SEREKH : 105, 125
FER
50 900 50
150 600 150
68 68
1
OJ
oI
#
e
™
]
S )0.00) 0000 1
8 o3 ) oy
[{o] A / N
o o U¥i&400 -
S 3 T /= &
0 ' 1 '
§ ©, :<< /] :<< i
S X0 0000
JgL-FvY5 BN
T-25 (RC-40)
735 —
1000
{8 mm =
50 900 50
FL-Fv4
T-25 150 600 150
125
= (NiNRREERRERENI NN
UFiE400
3 - UF#400 ’
[N Te] ©
g < I
(=]
Lo
L(O;%— ~
= avyy—+
Q OO ogck=18N/mm’
ERRA
RC-40
o( 900 o(
1000

T+ T X s=1: 20

0001

850

2000

k¥t (600%x600%550) #8515 X

S=1:20

HREKM 115

kM (600%600*550) #EX (95)

TiE R FE=C =R iva HE

PRI 2.00%2.00*0.85 =3.40 3.4 m3

BREL 3.40-(1.00*1.00%0.15+0.90*0.90*0.70) =2.68 2.7 m3

2 3.40-2.68/0.90 =0.42 0.4 m3

EmEEIE 1.00*1.00 =1.00 1.0 m2

BB o 1.00%1.00 =1.00 1.0 m2
0.90*0.90*0.70-((0.735*0.735*0.081)+(0.60*0.60*0.469)

a2 YU—+ ack=18N/mm?2 0.3 m3
+(0.30%0.30%0.15)+(0.40*0.40*0.15)) =0.32

Bl NE IS (0.90+0.60)*0.7*4-(0.30%0.30*2+0.40%0.40*2)  =3.7 3.7 m2

SL—F T-25 AATI3*713*75 =H735%735%81 HREE69.2kg/set 1.0 %

%k#4(600*600*550) #HEX (105 - 115 - 125)

TiE R FE=C =R iva HE

PRI 2.00%2.00*0.85 =3.40 3.4 m3

BREL 3.40-(1.00*1.00%0.15+0.90*0.90*0.70) =2.68 2.7 m3

Uz 3.40-2.68/0.90 =0.42 0.4 m3

EmEEIE 1.00*1.00 =1.00 1.0 m2

BB o 1.00%1.00 =1.00 1.0 m2
0.90*0.90*0.70-((0.735*0.735%0.081)+(0.60*0.60*0.469)

a2 YU—+ ack=18N/mm?2 0.3 m3
+(0.40%0.40%0.15)+(0.40*0.40*0.15)) =0.31

Bl NE IS ) (0.90+0.60)*0.7*4-(0.40*0.40*2+0.40%0.40*2) =3.6 3.6 m2

SL—F T-25 APRT13*713*75 4 735*735%81 HAEE69.2kg/set 1.0 %

T
50 900 50
150 600 150
68 68
ot )0.00) 0000
(]
ld ool — i S P —
O v / v
UFiE400 — -
3 2 AN —5 28 28
[=] e 1 L~
§§ o : V] : 1 i
ot )0.00) | 0000
c
i
Jai
o
JUL-FvY © E@H
T-25 (RC-40)
7135
1000
181 T ]
50 900 50
SL-Fv4
T-25 150 600 150
125
= IR RRRRRRRRRI NN
UFiE400
2 o ' U%3400
Lo ©
<t ~
o
Lo
8 ~
—) avyl)—+
OO ogck=18N/mm’
ERRA
RC-40
5( 900 5(
1000
T T Xs=1:20
o
Lo
(o]

2000

= i &% & X

WHEZEBERHFmIERLH
T4 Ei?iﬁaﬁ&%l% (2IR)
o ®
IEEF | poe :f: ik P
X mE R Bk FHER (6)
fa R X =
HEmEs | £ 13 = =




£ 7k #t (600%600%550) ¥ & X $=1:20
X REKY : 205
TEK
50 900 50
150 600 150
68 68
3 X0 XXX ]
g OOJL >>j i T
({e] A/ / A/
o o < _UFi§400 \ UF#%400 |z
o o - e - - w
> © \ o 8
_ _
[e) @ 1 ~
5 B G LD : -
g 0000) 000
JU-FvYy AWM
T-25 (RC-40)
735 —
1000
{81 o (=]
5Q 900 50
FL-Fv4
T-25 150 600 150
+25
py LTI TqT
UFiE400 UFiE400
o
ol B 3
'9 <t — _
8
o
3 ~
— avyl)—+
3 OO gck=18N/mm’
ABWRA
| | RC-40
5( 900 o (
1000
T T Xs=1:20
o
[Ke)
(o]

2000

HE K bt

RS

(7)

&k #t (600%600%670) #& & X $=1:20
SREKY : 45
FEE
50 900 50
150 600 150
68 68
8 000) XX 1
5 = : : Wi
/
s s AEEE (8K | BERAE (RER) |3
> © MO00*x400 300%400 o
_ _
I~ 1 e
g o § V1 i 1
8 (X0 (0000
3
gl
GU-Fv4 ik EBH
T-25 (RC-40)
735 ———
1000
{AmE =
50 900 50
JU-FvY
T-25 150 600 150
125
=l INITERRERRREEEEEEIE
ZEEE (BWA) BRaEAE (ERE)
- E = 400*%x400 300%400
g Lo _ _
2
8 ~
— avyly—+¢
2 OO ogck=18N/mm’
7 ABRE
RC-40
5 900 5
1000
T+ T X s=1: 20
2

2000

0001

&k #t (700%700%675) 4 & X $=1:20
HREKM : 55
T
50 1000 50
150 700 150 E kMt (600*600*550) EFR (205)
T & A HE ==K iva M=
BRYE 2.00%2.00*0.85 =3.40 3.4 m3
[, Y a
B onmm e L 3.40-(1.00%1.00*0.15+0.90%0.90*0.70) —2.68 2.7 m3
Lo | J—
-3 a e %4 3.40-2.68/0.90 =0.42 0.4 m3
/ EEEIE 1.00*1.00 =1.00 1.0 m?2
%iiﬁuiﬁ ﬁ Ak RC—40
. LEAS LR A 1.00*1.00 =1.00 1.0 m?2
2 s < BHEEE \ | [l o |z "
2 ~ 500500 400+x400 S = 0.90*0.90*0.70-((0.735*0.735*0.081)+ (0.60*0.60%0.469)
| L a2 ) —Fhk ack=18N/mm2 0.3 m3
+(0.40*0.40*0.15)+(0.40*0.40*0.15)) =0.31
v | U SNBSS 4 (0.90+0.60)*0.7*4-(0.40*0.40*2+0.40*0.40*2) =3.6 3.6 m2
L) ~
E “ 0] o SL—F T-25 AfRT1I3*713*75 =FE735%735%81 #REE69.2kg/set 1.0 %
S 006.0) i 000
c
<+
),
D
\ . o
VAES L) o
T-25 AWM
(RC-40)
820 £ #E(600%600%670) 2B (42)
1100 TiE RS stE= BEAT e
PR YE 2.00*2.00*0.97 —3.88 3.9 m3
R L 3.88-(1.00*1.00*0.15+0.90*0.90*0.82) =3.07 3.1 m3
%4 3.88-3.07/0.90 =0.47 0.5 m3
EEEIE 1.00*1.00 =1.00 1.0 m?2
E RS o 1.00%1.00 =1.00 1.0 m2
1'E|]E 0.90*0.90*0.82-((0.735*0.735*0.081)+(0.60*0.60*0.589)
a2 ) —Fhk ack=18N/mm2 0.4 m3
+(0.40*0.40*0.15)+(0.30*0.40*0.15)+(0.30*0.30*0.15)) =0.35
(0.90+0.60)*0.82*4-(0.30*0.30*2+0.40*0.30*2
Y /NBUFEEY) 4.4 m?2
+0.4*0.4*2) —4.36
SL—F T-25 AfRT1I3*713*75 =FE735%735%81 H#AEE69.2kg/set 1.0 %
% 50 1000 50
150 700 150
Y744 6 60
250%250 .
125 E K HE(700*700%675) #iE3xk (52)
p=y WP T TLT - -
W Tf&E R TER ==K =
~ EE
- ERaliS UFE400 (ﬁ%ﬁ) PR YE 2.10%2.10*0.975 =4.30 4.3 m3
~
w © 3 500%500 400%400 R L 4.30-(1.10*1.10*0.15+1.00*1.00*0.825) ~3.29 3.3 m3
(o]
» %4 4.30-3.29/0.90 =0.64 0.6 m3
Tg J EEEIE 1.10*1.10 =1.21 1.2 m?2
o
2 vy =*r EREA e 1.10*1.10 =1.21 1.2 m2
o OO ogck=18N/mm’
2 1.00*1.00*0.825-((0.82*0.82*0.081)+(0.70*0.70*0.594)
a2 ) —Fhk ack=18N/mm2 0.4 m3
L EREBA +(0.40%0.40*0.15)+(0.40*0.40*0.15)+(0.50*0.50%0.15)) =0.39
5( 1000 @ RC-40
d (1.00+0.70)*0.825*4-(0.40*0.40*2+0.40*0.40*2+0.5*0.5
1100 A e IINBIRE &) 4.6 m2
*2) —4.63
SL—F T-25 A£800*800*75 =#r820*820*81 #4E &84.9kg/set 1.0 %
T T Xs=1:20
== ) =
£ jE %
k4
WEZTEKRETLTHEARLH
7 JIF/NMELHE
T x4 ]Ef/_\*i% =
TREIEMAMPKERIE QIRX)
A
PaEs
~ £x B
[=2) P Ly
. 1
TEHAR EAG n h 4
X mfE e HEKEZRFEEBER(T7)
i R X =
2100
XEm&ES | £ 13 ¥ 5 =1




& sk ¥t (700%700%1080) #&:E X

S=1:20

X REKH 265

FER
50 1000 50
150_ 700 150
S 9000 XXX
o
2 o e .
2 g < BEEHE \ AEAREE 7 e =
2 ~ N500x700 500%804 S |8
I { | I
(= - l
o ] -
= : s
2 0000) OO
JgL—-Fv49
T-5% £BH
(RC-40)
{8 E
4?5é;§£iif 50 1000 50
150 700 150
60 50
T25
= IINSENRRNNRRNRRNNRENE
S
~ - -
2 BHOEAE BHAERAE
sl & g 500%700 500%800
s S [ P
3
Lo
Lo
o ~
2 avyy—+
S OO ock=18N/mm’
7 ERRE
5 1000 50 RC-40
1100
T T s=1:20
3480

HE K bt

RS

(8)

1380

2100

& sk ¥t (800%800%750) 4% & X $=1:20
SREKY : 135
FHEE
50 1100 50
150 800 150
_60 60
] I
el XX 0O 0
E of— ® ® -
S g S\ UF#400 | U%%600 ° |3
=| N\ S (8
\
3| °r e o —
g )0%0) 000
GU-—FvY EBH
T-25 (RC—-40)
A X
HL-Fv4
T-25
50, 1100 50
15 800 150
T-25
©
S I
UFiE400 UFiE600
o T~
o Rl _—
S S
=
Lo
o ~
= avyy—+k
S OO ock=18N/mm’
7 ERBRE
RC-40
i 1100 5 (
1200
I TXs=1:20
3250
]
()
\ s/
~ ~ 3
\ /
2200

£k H(700*700%1080) #hE=Fk (265)

TiE A ErE=C i==Kiva %=1
RIE (2.1%2.1+3.48*3.48)*1/2*1.38 =11.40 11.4 m3
HERL 11.40-(1.10*1.10*0.15+1.00*1.00*1.23) =9.99 10.0 m3
(e 11.40-9.99/0.90 =0.3 0.3 m3
EmEEIE 1.10*1.10 =1.21 1.2 m?2
EEEF o 1.10%1.10 =1.21 1.2 m2
1.00*1.00*1.23-((0.82*0.82*0.081)+(0.70*0.70*0.999)
o>y U—F ack=18N/mm2 0.6 m3
+(0.70*0.50*0.15)+(0.80*0.50%0.15)) =0.57
A INBYFEE YY) (1.00+0.70)*1.23*4-(0.70*0.50*2+0.80*0.50*2) =6.86 6.9 m2
JL—F7 T-25 ARAA800*800*75 =M820*820*81 #LE=84.9kg/set 1.0 '8
kB4 (800*800*750) #HEX (133)
TiE A ErE=C i==Kiva %=1
RIE (2.2%2.24+3.25*3.25)*1/2*1.05 =8.09 8.1 m3
HERL 8.09-(1.20*1.20*0.15+1.10*1.10*0.9) =6.79 6.8 m3
(e 8.09-6.79/0.9 =0.55 0.6 m3
EmEEIE 1.20*1.20 =1.44 1.4 m?2
=) o 1.20*1.20 =1.44 1.4 m2
1.10*1.10*0.9-((0.92*0.92*0.096)+(0.80*0.80*0.75)
o> )—hk ack=18N/mm2 0.5 m3
+(0.40*0.40*0.15)+(0.60*0.60%0.15)) =0.45
pinlp e INBIRESE ) (1.10+0.80)*0.90*4-(0.40*0.40*2+0.60*0.60*2 =5.80 5.8 m?2
SL—F T-25 ZA1A890%900%90 =F#4920%920%96 HEE118*5kg/set 1.0 758
== 4= =JL §_I_ Y
5= jjﬂ’. aX fA
K4
WEZEEKRFEmLIHERLA
T =% AT ELSE
ERIEMAMPKEIE 2IR)
] JII%
B
_ nH = =i
ITEEF Y 1
= A n kt th A
X m & 8 BEKESRFHEER (8)
fa R X 7R
HE&ES | & 13 = =




gk #t (800%x800%1250) #&

BB s=1:20

X REKH : 315

FmEE
50 1100 50
150 800 150
60 50
] Tt I
O F!
o/
O
A
P T
-
N
i
S 000) (XXX
E OJL: i .
g \
|
E g7ﬁ: i Y
S 0% 0] 0000
I
oS-t
o h
o |
S
JL-Fv4 i EH#s
T-25 v (RC-40)
{8 =
SL-Fv4
T-25
50 1100 50
150 800 150
T-25
2 IR
B <
g ¥ &
o ~
0 =Y
o (}C} gck=18N/mm’
o
ARG
RC—-40
5( 1100 5(
1200

T T Xs=1:20

3750

1550

2200

BEKiEsx FEa R (10)

£k #t (900%900%1000) #EER  s=1:20

XREKY - 155

£k #4(800%800%1250) #h=k (315)
TIi&E FRAL FE H AL HeE
BRYE (2.2%¥2.2+3.75*3.75)*1/2*1.55 =14.6 14.6 m3
R L 14.6-(1.20*1.20%0.15+1.10*1.10*1.4 ) =12.69 12.7 m3
E Jumd 14.6-12.69/0.9 =0.5 0.5 m3
HEEEIE 1.20*1.20 =1.44 1.4 m2
Bt e 1.20%1.20 =1.44 1.4 m2
1.10%1.10*1.4-((0.92*0.92*0.096) +(0.80*0.80*1.154)
aroYU—+ ack=18N/mm2 0.8 m3
+(0.28%0.15)+(0.28*0.15)) =0.79
itk e INEIEIEY) (1.10+0.80)*1.4%4-(0.28*2+0.28*2) =9.52 9.5 m2
gL—F T T-25 A1£890%900*90 =#r920*920%96 HLEHE118.5kg/set 1.0 18
£k #$(900%900*1000) #Ex (155)
TIi&E FRFL FE H AL HE
BRYE (2.3%2.3+3.6*3.6)*1/2*1.3 =11.86 11.9 m3
R L 11.86-(1.30%1.30*%0.15+1.20%1.20*1.15) =9.95 10.0 m3
E Jund 11.86-9.95/0.9 =0.8 0.8 m3
EEEIE 1.30*1.30 =1.69 1.7 m2
EREAS e 1.30%1.30 =1.69 1.7 m2
1.20*1.20*1.15-((1.02*1.02*0.081)+(0.90*0.90*0.904)
aroYU—+ ack=18N/mm2 0.7 m3
+(0.60*0.60%0.15)+(0.70*0.70*0.15)+(0.50*0.50*0.15)) =0.66
(1.20+0.90)*1.15*4-(0.60*0.60*2+0.70*0.70*2+0.5*0.5
B A% NS EY) 7.5 m2
*2) =7.46
gL—F T T-25 A1£995%1000*90 =41020*1020*%96 #REE142.9kg/set 1.0 M

TmEE
50 1200 50
150 900 150
60 60
)
o1t
O Hit
|O>_‘LE
* i
(&) ]
o
1k
3 X0 000
o
I — S e ]
: (
o Ux#E600 * U
g 8 N—-—} T S |8
~ \\ ~
(@) ~ \ ~
- L : -
g )O'0) O
JLU-FvYy AEBM
T-25 (RC-40)
181 T ]
50 1200 50
BL_5y 150 900 150
T-25
T-25
S| SO
UFE600 5%?%@?0
- HERLE *:
S 500%500
3 2 3
— [o>)
i
N
o ~
f :I\Jbl)_|‘
2 ()() (XSL\ ogck=18N/mm’
EBRRA
RC-40
o( 1200 b(
1300
T T Xs=1:20
3600
)
\ o/
A o
\ g
2300

%

i % &

WHEZEBERHFmIERLH
TEA Ei?iﬁty&ﬂ%r% (2IR)
o ®
IEEF | poe :f: il P4
X m & 8 BEkMERFEHER (10)
f8 R EIS
HEm&ES | & 13 = 10 5




FH=4. 00

DL=2. 500

DL=2. 500

DL=2. 500

DL=2. 500

HE K it 5% &

B

X (AFiER) $=1:50

UFi&300 L=56.4m

0. 35%

UFi&300 L=56.4m

1S5 5Kk# (RFITH)
(600%600%550)
FH=3. 80

U=Fi&400 L=49.2m

0. 35%

U=Fi&400 L=49.2m

0. 35%

0. 35%

U=Fi&400 L=7.2m

5EEk# (BIBITH) B B 4 EA#E500%500 L=12. 4m

(700%700%675)
FH=3. 60 BE 5% 52 K

0. 35%

REYEEERA50 L=9.0m

I FH=3. 38
H 0.3
—_— 4%

1.244%

GH=2. 588

t FH=2. 70
V74X

0.25x0. 25

GH=2. 565

AN

DL=2.500
DL=2.500
22 ki (RIS S)
(600%600%550) = _
(600+60 UF %400 L=7.2m
0. 35%
DL=2. 500
== f" 'EJ1L EE S,
= i ® it X
Wb EFARFHM RN
B AMESS
TFEA | oxTemudkBEIE QIR
|
g
_ B
TEEM ;ié - [ i
_ DL=2.500 |
M @ iE HOKEREME (AR
fa R X 7R
Nm&ES | £ 13 = F 11 =




pr—

HEK 5%

Al

BH X (B

i

2 1)

<
r

S=1:50

% ZEH78300%300 L=76. Om

FH=3. 90
0.38%
DL=1. 500 DL=1. 500
% 2= {H;£300%300 L=76. Om
0.38%
DL=1. 500 DL=1. 500
N 145 5Kk ¥
% Z1017%8300%300 (500%500%800)
L=76. Om FH=3. 66 % 2 H;£500%500 L=40. Tm
0.38%
DL=1. 500 DL=1. 500
155 & kit (62Kt
(FRiHITH) ~ Y 175 gk #t 185 &£ Kk ¥t
e g < 900%900%1000 B B ALl 700%700 (800%800%1000) Al
HERB5006500 L=40. Tm s o 0% e FH=3. 50 & 3 S BB 7004700 L=14.Om g o100 SRIECRIRB00x000 - (800+600+1200)
0.38%
— 0. 3% 1.47%
DL=1. 500 FUT4R DL=1. 500
0.50x0.50
£ i % it X
B B 4 &2 81;&800%900 R E K NE = 3K T B S %t
L=5. 4m II:H:& 58 ]
T =4 TEEE’AH%’S% x
B3 B 4 R 4R — RRIXMAEHKEIE QIR)
. 1000%1000 W
IEEF | poe ;,:: ik e
DL=1. 500 M & & BEK MESR R BIE (Bt 1)
® R =
EES | 2 13 % % 12 8




HEK 5%

pr—

A

B

y

i

<
r

14

fg 4)

S=1:50

1=55KkH GRFITH) 8E5 &Lk GRIZITH)
. (500%500%450) . (500%500%450) -
FH=3. 90 UZ5%300 L=12.7m FH=3. 87 UZ5%300 L=18. 3m Fi=3 g3 U%5%300 L=15. 4m

0.21% 0.21% 0.21%

DL=1.000 DL=1.000
95 &Lk GRIZITH) 105 5&Kk# GRIZHTH)
UF#%300 L=15.4m (600+600+550) U %400 L=15.4m (600+600+550) U %400 L=24. 1m
s FH=3. 80 i FH=3. 76 #
0.21%
0. 25% 0.25%

DL=1.000 DL=1.000

125 &Kk #t

1155 Kk#H RiFITH) (IJ;%*TB)

. (600%600%550) .
UZ38400 L=24. 1m FH=3 70 Ui&400 L=21. 4m ;ﬁﬂgf‘gﬁo*%‘” UZi§400 L=24. 4m
0.25% 0.28% 0.28%
DL=1. 000 DL=1. 000
1355k RIFHTH)
U5%400 L=24. 4m (800+800+750) U600 L=24. 8m
FH=3. 57
0.28%
0.28%

DL=1. 000 = i % 5t DL=1. 000

N TFEA | oxTemudkBEIE QIR
=57 =l
o 16557 #
. (SIS £ e £ BRI 700+ 700 ot o0) B
Ui%600 L=24.8m (900+900+1000) L=4. 80 Al 00 L= TR~ hx B
FH=3 50 =4. oum FH=3. 50 BB 4aEAI;ET00x7 L=14. Om = ot TESF Aok = I E .

WEEEREH LB RN

AREAHES

0. 28%

DL=1.000

1.04%

0.36%

X m 7% 58 RkKERERAAR (B 4)
R X =
HEES | £ 13 = 13 =




